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L Solving the xn’12 on the previous Tiny
a. WK’ -accepts 9" (all mAx are still N2 "R to all brothers, except for the Y9N to the nxvn)
i. reads ®w» of Xn»1 as case of newborn brothers after the n¥’Yn — following v™
b. R»17-accepts ™
i. reads R20 of Rn»11 as case of newborn brothers after n¥>n — following 1327 of v™
IL Dispute (8nR "1 v. Ry27) regarding status of relationship between one of the brothers and nna» mx
a. nwy
i. following ™
1. nnan o1 were fulfilling on behalf of all the wives and brothers
2. all were released from Nk nwR NNY
3. all now fall under category of n'na »w &9 TnR n’a (see text box, v. 1)
b. nm
i. following %™- status remains
II1. 17's exemption of NvVIL N
a. since it says nRmv (v. 2) as in all m»y (v. 3)
b. doesn’t equate with nv1o pav which requires n¥*9n

i. justasa 11277 NV - a woman who married based on testimony regarding her husband’s death

— testimony later disproven by his appearance
ii. rejected possibility: 1327 might have equated nvYo pav with kN»7IRT HVID
c.  challenge: no1o pav is also called nknv as in v. 4
i. asper 1323, contra 99’3 12 °0v "y who applies to 1w mn and exempts her from ma»
1. 127 obligate her in x9N (and the M may even be able to perform o)
Iv. NN’ 17’s question of NYW 17: MW 1NN who then died — what is the status of the n1x?
a. Lemma A: question only according to 1121
i. 3”17 applies it to 1MW NN, the MX are certainly exempted;
ii. 1129 may totally uproot text from 1wy NN to NVI0 or keep it as both
b. Lemma B: question only according to 5”2
i. 1117 only apply it to nvIo and totally allow ywi7a 21NN
ii. 2”17 may read ®’n Nayn — but not the Mm% and they perform nxon
c. answer: proper read of mwn — “if one (of the max) was %109 and the other nws...”
i. 908 — unfit for others (nwy etc.)
1. challenge: but fit for him —(YX1v’) — why not perform ma?
ii. rather: 9108 — was a returned nwy of his brother...still perform n¥"Yn (could do ma»)
iii. reread: 9109 — unfit for others — answer to challenge based on »27’s dictum
d. 1 ’s question
i. version #1:\MWIN PN NI
1. wmwyn vmn is certainly nMoR by 17p (she was MoR to her own husband)
2. is1"p strong enough to push N1 away?
ii.  Version #2: nw1i 1mn
1. wmwyn vmn mx is certainly available for m1a» (1'p not strong enough)
2. vy 1n herself — does /p trump D127 Nn¥n?
iii. Attempted answer from n%108 NNRY NIWI NNR

www.dafyomivicc.org 9 © Yitzchak Etshalom 2014




